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1. Wl OMR Fv-uAF qv s, |, 'Candidate must enter his / her
mgmm(zdfdﬂwx Question  Booklet Serial No.
vy ford | AR (10 _Digits) in the OMR Answer

' S Sheet, - . . A

2, W qaTE W’F} ?WJ 5 7 2. Candidates are required to giue

I 3/ _;,,._- R o theic answers in ther own words
g. L aafarru pfaﬁttabie
3. e i g W ﬁ# gn HE f ﬁqurf*! in lha nght hand margin
gvrf«'ﬁ fifre & 3'! indicate full marks.

4, W:ﬁ Fi 7. &4 4 "w'}xtra time have been
Wi & 15 faae «T SfER 1 allested for the candidates to read
Cteg g "FV
T fear may &1 ‘wm"mfht questions carefully.
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6. avg-y ¥ 70 ARG AT & ¢

b & fst 35wyt &t Fav dr
Mard ¥ as et @ AfuE @
I I W g 35 1 & oIS
& e & fw 1 o Fraifea &4
1 3 I & fow Igeey v
W OMR 3I-73F d Ry mu wgt
fraer & A / w1 & 97 @
g #1 1 fret W} weTe & wgeTv/
AT @ / &Y / AT T F
OMR JW7- U3% ¥ QqiT Ser A7
& w=ur whar wfvmr smr=r
&

7. 5T - ¥ 7 2009 AT AT & |
FRF & forg 2 3w i & frd
® =Y 10 Wt w1 Faw 3w
Nfvart # | 73F AfAfE T Gve
6 319 IviT gy 7 e sRw
F fom s ofw Fruifia & frd @
=T 3 gyt @1 F9v Fr AfErd

&

8. [Fl 7PN & FIFIE T F 8,

3T qolar afee @ 1

f LT

5. we ey yfrwr & &vsl # & — 5 This question booklet is divided into

two sections — Section-A and
Section-B.

In  Section-A, there are
70 objective type questions, oul
of which any 35 questions are to
be answered. If more than
35 questions are answered, then
only first 35 will be evaluated.
Each question carries 1 mark. For

" answering these darken the arcle

with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
treated invalid.

. In Section - B, there are 20 short

answer type questions. cach
carrying 2 marks, out of which
any 10 questions are to be
answered. Apart from these, there
are 6 long answer type
questions, each carrying 5 marks
out of which any 3 gquestions are
to be answered.

Use of any electronic appliances &
strictly prohibited,
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WU - ¥ / SECTION - A
) w 0bjective Type Questions
g7 W 18 T07F & 5% 537 & any wpe e oy 70 & Forrd @ 0

35;73#?373??3'! 351 <35

Question Nos. 1 to 70 have four options, out of which only one is correct.

you have 1o mark your selected option, on the OMR-Sheet. Answer any

35 questions. | 50 1= 35
|, &g qeweH | siafer s 2

(A) FRE T e B e T I

() SRR h I () s @ e

Image formed in compound microscope is
(A) real and erect (B) . real and inverted
(C) virtual and inverted (D) virtual énd erect
2 WE® st 6 W o, el weg @ w0 wffee g R
(A) arEfas HR I (B) arfa® @ Hiul
() amvre IR Hiw (D) IR T I
med at the retina of human eye is

Image of any object for

(A) real and inverted (B) real and erect

(D) virtual and inverted

(C) virtual and erect
Page 3 / 32
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(A) ﬁﬂﬁ@'_ﬁi{lﬂq (B) ;fydgfgamﬂ
(C) wuzkEeuwd D) wtwzEA
Convex lens is used in

(B) long-sightedness

(A)  short-sightedncss

(C) presbyopia (D)  astigmatism

AT &1 T1 fIen &1 &1 HO01 R

(A) i (B) i

() feada (D) g™

The colour of sky is blue duc to

(A) interference (B) = scattering
(C) diffraction (D) polarisation

& HAT-HEg GIdl & SRV YH & Afaao § A &1 9reE 214 2

(A)  TOTCH & FHTI (B) TR F FHAIA

(C) e & T & GUUA (D) AURH % 9 H FEATT
The fringe width in interference of light due to two coherer
sources is

(A) proportional to wavelength

(B) inversely proportional to wavelength

(C) proportional to square of wavelength

(D) inversely proportional 1o square of wavelength

24/*“#/)(11-5003-(31;401_} Page 4 - -




afl T & A HIA FA-TEy w2 9 3 7@ 7R

(a) s wHE
(C) K FEHE B

(B)
(D)

N 9T &
T 4w A

[ 117

Two sources of monochromatic light is cohcrent, when their

(A) intensities are equal

(C) phases are equal

@-wfelt qoreed 8
(A) A=hmv
© A= mc?

v

de Broglie wavelength is

(A) A=hmv

2
C) A= mce
v

afe fedt o gr ® Biw (v) *1 AF g Al R %

TR i1 & 9 98 gR 8
(A) AND
(C) NOR

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

none of these

OR

NOT

amplitudes are equal

T (A.B)®

If in a logic gate output ( Y) is obtained by the product of its both

inputs ( A . B), then the gate is

(A) AND

(C}) NOR

(B)

(D)

OR

NOT

|24 /A /X11-5003-(37/40)
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I1.

aémmﬁaﬁﬂiﬁi FATA ] é'lgimmrrﬂr«ﬁ?
(A) 1V (B) 10c¢V
(C) 100V () H0leV

1 : -miconducior ;.
The width of forbidden c¢ncrgy gap b the semicon /I

approximatcly
(A) leV (B) 10¢V
(C) 100eV- (D) 0:01c¢V

e 31 ggh 6 wwn 27 $1 fasnarh g i wngen Fe A
(A) (10011), (B) (10111),

(€) (11001, (D) (11011,
The equivalent number of decimal number 27 into binary number

system will be
(A) (10011, (B) (10111),

(C) (11001, (D) (11011 )5

of i fewent) 4, afe Frem %A 50 HL B, @1 ot st A
(A) 25 Hz (B) 50 Hz

(C) 100 Hz (D) 200 Hz

24/A/X11-5003a77%0 Page 6 / 32
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13.

14,

[117]

ful 1 if 3
In full wave rectifier, if inpy, frequency is 50 Hz. then output

~ frequency will be

(A) 25 Hz (B) 350 Hz

() 100 Hz (D) 200 Hz
¥ gfs St wigeM wen fentgem 21 =1 wd & 8, 39 FE1 2

| (A) W (B) TR
(C) wIH (D) ¥
The device which works of both modulation and demodulation is
called
(A) Laser (B Radar
(C) Modem (D) Fax
Haw 39uE i g i qag A gl @
(A) 36000 fert (B) 36000 Hiet
(C) 3600 forh _ (D) 36000 HX

Distance of communication satellite from the surface of the earth is

(A) 36000 km (B) 36000 mile
(C) 3600 km (D} 36000 metre
Gl &1 Hrea FRa ST

(a) 3w | B) 3w #
© i (D) AR

24 /A /XI1-5003-37140 Page 7 | 32 -




16.

17.

Attenuation is measured in

(A) ohm (B)
(C) mho (D)
(A) 9 % gaEies e W (B)
(C) U FgEHAE R (D)

Photocell is based on

(A) chemical effect of current
(B) photo-clcctﬁc effgct

(C} magnetic effect of current
(D} electro-magnetic induction
Furs forwl wpg &

(A) FAIRH F (B)
(C) - (D)
Cathode rays are group of

(A) electrons (B)
(C}) neutrons (D)
feamafsra werd H wd-amg ¢

(A) 06931 x A (B)
© L8 (D)

/.

f Iy

decibel

sicmcen

yaprer - e ST W
ﬁga-gﬁﬁﬂﬁqu

WeHt %
T3

e}

protons

atoms

log 102
A
stea g
0-6031

24 /A/ X11-5003-(37/40)
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Half life of radioactive subsg;

nce s

(A)  00O31 < A | log ; 0*

© =T ) Averase sne
|8, WA TN H S, TE 2

w ® w

() wfd e (D) e 2

S.1. unit of decay constant is

(A) metre (B) hertz

(C)  per metre (D) metre?
19. 9o Th**® & T wemm & =kt ) ven 2

(A) 320 (B) 230

(C}) 140 (D) 90

Number of neutrons in an atom of guThQ‘m is

(A) 320 (B) 230

(C) 140 : (D) 90
20. P-N §fY 3EIE %1 ITNT F & W

(A) Wad® £ 7@ (B) T® N WE

(C) WIgAR hl TE (D) feswrd & o

P-N junction diode is used as

(A) an amplifier (B) an osciilator

(C)  a modulator (D) arectifier
——

[ 117
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22.

23.

Ly

Frasf) gtz | uml &) 4@ dred ad &) &K &
(B) yau®
D) feerd

' is called
increasc input voltage/current is cd

Ay gfem
(C) grarg
Instrument uscd o
(B) amplifier

(A)  oscillator

(C)  diode (D)  rectifier

AC iy d wifts eeT =99 Bl

() wlae 4§ (B) Wehea H
(© w3 (D) THaa;f

In AC circuit, power is lost in only

(A) resistance (B) inductance

(C) capacitance (D) all of these

@Hﬂlﬁﬁﬁ’gﬁmﬁlml;o-6sin 100 nt @ FAefa 21 gearad
yra 6 wgfa 2
(A) 50m (B) 50

(C) 100n (D) 100

An alternating electric current is represented by equation

I = 0-6 sin 100 nt. The frequency of alternating current is
(A) 50 (B) 50

(C) 100 n (D) 100

[24/A/X11-5003-137/40) Page 10 / 32




26.

.
faggd QU4 H SRR WA Y b 2

(A) DC M) AC

{C) DCadm AC QA CoD) g4l Al

Current used in clectroplating is

(A) DC (B) AC

(C) both DC and AC (D) none of these
a5 § 931 3 wfafa s 2

(A) A U0 (B) I g @
(C) uWad gdw § (D) ¥=add oF ¥

A large virtual image of object is formed by

(A) concave mirror (B) convex mirror

(C) plane mirror (D} concave lens

g0 § W@ Q Sl N GAA A P A P, §) 99 WHGed | I e
gt

(A) (B)

WV|-o
o)

(€)

e

;-:P

3 (D)

i
+
hu

Powers of two lenses kept in contact, are P, and P,. The power of

equivalent lens will be

P P,
A) L B) =
(A) P, P
(C) PxP, (D) P +P

24 /A /X11-5003-(37/40) Page 11 / 32




28.

29.

b i 1 AiReA H F AR 2
(A) & () dren
() Hen (o)

: SR 2
The wavelength of which colour is minimum :

(A)  Violet (B) Yellow
(C) Blue (D) Red:
$ZuAY &1 Ffo few S g 2 2
(A) fasda (B) WehIUi
| (C) 9 (D) =i -

Which causes the formation of rainbow ?

(A) Diffraction (B]_ Scattering

(C) Refraction (D) Dispersion

(Mo €)' /2 T UM B

{4) 3 x 10® arfi/qwue (B) 3 x 10'° a/awvg
(C) 3 x 10° &t/ dwve (D) 3 x 10° i/ Aoz
The value of {},I.Q €, }'”2 is

(A) 3 x 10%°cm/second (B)

3 x lﬂlocm/sccond

(C) 3 x 10° cm/second D) 3x IOSkm/secund

24/A/ XI1I-5003-(37/40)
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32.

117
& WA A 89 B & @i § quEren 0 ARG [FE e
e, QN t’ﬂwglmmmmaﬁ%
) evB (B) ev/B
(O IR (D) Bv/e
An electron of charge e moves parallel to uniform lines of force in

magnetic field B with velocity v. Force acting on electron is

Al euvB (B) ev/B

(C)  zero (D) Bvle

ae e # wum 3 | wfwm e R g f Sl g
A)  FfmEd (B) UEHI

(C) TAFRR (D) T A A

The nature of electron beams moving with uniform velocity in the

same direction will be https://www.bsebstudy.com
{A) converging (B) diverging
(C) parallel (D) none of these

g &7 (B) § W (m) THRT I TR w0 T G P
- 3Tl (1 ) 1 A € R

(A) 1=

sy
1

—
x m

Wi

< B (B)

31

D) =t

3w

C) =

w3

124/ A/ XI11-5003-(37/40) Page 13 / 32
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33.

34.

[

. *
The value of torque (t) experienced by current loop of my,,
ir

moment (i;; ) placed in magnetic ficld {E':: ) is

—-p - - ¥

(A) T=mxB (B t=Bxm
(C) = !_".; (D) =B
B m

WIFE $1 S.I. 4EF 2
(A) e (C) - (B) dre (V)

(€ 3m(Q) {D) &l (H)

S.I. unit of self-induction is

(A)  coulomb (C) (B) volt (V)
(C) ohm (Q) (D). henry (H)

urg % &1 frefl et B grahla @ § oM Y W 3ER S i o
(a) @ (B) Imfem

(C) UHEHH (D) 3 & ®E TH

On oscillating any metallic sphere in thc magnetic field, i

oscillatory motion is
(A)  Accelerated (B) Damping

24 /A [/ XI1-5003-(37/40) Page 14 / ¥



36.

37.

mﬂﬁ%ﬁﬁﬂmaﬂmﬁ?{%
(A) g0 W ST THTE T (B) ﬁ@ga..gﬁiﬁaﬁmm
) i@ gEhe W (D) @ w T

The working principle of dynamo is based on
(A) heating effect of current

(B) electromagnetic induction

(C) induced magnetism

(D) induced current

oo el FT ITA HT@T R ?
(A) 3= HA | (B) 3= dleedl
(C) AT U (D) 39 dleedl

What is produced by induction ¢oil ?
(A) High current (B) High voltage
(C) Low current (D) Low voltage

ga'-fma}a B 1 3 o gl @

2 2
& 2- B) B-
2ng Mo
2 2
- o) B-
4u, 3p,

[ 117 ]
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38.

39.

40.

[117,

density of magnetic field B 18

The encrt.?-' 2
w2 .

> 2
(C) f:;} (D) {f—lo—
mm&ﬁammﬁfﬁmﬂmﬁﬂmmm%?
(A) 3= AR (B) 3fgd WA
(€ o 3fEa T M (D) & T
What value of alternating current is measured by hot wire
ammeter ?
(A) High value (B) Average value

(C) Root mean square value (D) None of these

A ds SFFd TRY W qEHE §F B wedd &), 9 ds #F W A
A

(A) Bds cos® {1.3) Bds sin®

(C) Bds tan0 (D) I3

. - ., . -
If magnetic field B is perpendicular to surface area vector ds,

then the magnetic flux on ds area will be

(A) Bds cos0 (B) Bds sin0
(C) Bdstano (D) zero
gfanan &1 AT gl 8

.qp) MW (B) &%
c) & (D) %urs

24/A/XI1-5003 127740 Page 16 / 32




43.

41.

42,

Unit of rcactancc is

a) obm (B) tesla
(C) henry | (D) farad
@c@wﬁwﬁ?ﬁmmmmqﬂ—@m%

A 7 B) 75

c 2 o) T

Mean value of alternating current in 2 full cycle is

w B 3

© 2 (D) zero
u&gﬁﬁﬁmﬂwﬁm.w#mmﬁw@,ﬁwﬁﬁmﬂm
g 2

(A) cosd (B) cos> ¢

(C) sin¢ (D) tané

If the phase difference between alternating current and e.m.f. is ¢,
then the value of power factor is

(A) cosé (B) cos? ¢

(C) sin¢ (D) tand

S 1 Y T A 2

g @) g x B

) et/ FM o) T A B T

Page 17 / 32
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45.

46.

Unit of linear charge density 18

(A)  coulomb/metre (B) coulomb x metre
(C) mctrefa.;:oulomb (D) none of these
e ¥ 6 e 1 fndia g3 g R

@) (mr?aT | (MLTAT)

€ [ MLTA] D) [ MAT3A)

The dimensional formula of intensity of electric field is
(A)  [MLT?A™) : B) [MLT3A™']

(C) [MLT3A) ©) [ M2T3A™

8 sl Wy 3y § Sefdw SR ) wem 2

EA] 5 x 10" (B) 25x10'

(€ 12:8x10' D) 1:6x10'°

[1171

Number of electrons present in 8 coulomb negative charge is

W 5x10% (B) 25x 10"

(C) 12-8x 10" D) 16 x 10'°

sw#ammmmmsomwm@ﬁilm

e w1 Aga foys e 2
@) Sx 107 FE-ARX B 25x 1072 FEim-the
Q 1EEE-e O ¥

24/A/XI1-5003-(37/40)
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Twa cqual und opposite charges of 5 coulomb are kept mutually at

a distance of 5:0 em. The clectric dipolc moment of the system is

(A) 5~ 10 2coulomb-metre (B) 25« 10 % coulomb-metre

(C) 1 coulomb-metre (D) zero
47. YR % WRAfNE MR F g8 A M & F A 3 IR R I 83 .

(A) gTm R

B) wGme

(C) a1 & e 2 Foram g8 m 2
(D) ¥&F Y= TEar &

On moving from the surface of a charged metallic sphere to the

centre of the sphere, the electric field

(A) decreases
(B) increases

(C) remains same as at the surface

(D) zero at all places
48. % w< Y8 ¥ it n 4G RyT @ #1 9= g & frla 7@ ga wow @
(A a/e (Bl 2q/¢,

(C) ng/e, . . (D) ¥

-h_ |24/A/XII-5003-|31:40|| Page 19 / 32
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49,

||1?|

n clectnie dipoles are situated in a closed surface. Total clectric fi,

coming out from closed surface will be

(A) q/e, (B) 29/ €,
Q1 ng/e o (D) zero
Frefra Rufd § 4qu Rym & #r01 A Rve @ ¥

1 P 1 p’
A) 4t e, r (B) 4ne, 2
€ | (D) 34

In broad-side-on position, the electric potential due to electric

dipole is

Mt B 2
(C) zero ‘ (D) infinite
frafafes 1 @ #1 & gufa gro aeeg 22

(A) Tl (B) @+,

€y . A A (D) A wH. 3T & .
Which of the following is blocked by a capacitor ?
(A) AC (B) DC

(C}) Both ACand DC (D) Neither AC nor DC

24/A/X11-5003 137740, Page 20 / 32
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al AOW AN 60 W & Q 4R 220V Ha & g ;A K 37 gfdu & srpem
Qm

(Al 4.3 (B) 3:4
w 2-3 M) 3:2

Two bulbs of 40 W and 60 W are connccled to 220 V source. The

ratio of their resistances will be

(A)  4:3 B) 3:4
€} 2:3 (D) 3:2

52. fwdlt ar w1 wfédiv 500 Q &1 Swh faga arerwm &l
(A) 0-002 3! (B) 0-02 3 !
() 503w (D) 500 3!

The resistance of any wire is 500 Q. Its electrical conductivity

will be
(A) 0-002 ohm ™' (B} 002 ohm™!
(Cy 50ohm™' (D) 500 ohm™

53. n GWE Ydus vEe AR ¥ a9 IS 9 aHFTR w9 3 @S 9@ 2
sifireran a9 <Fa Sfedy 1 39 g
A - B) n
(C) an . (D) n?

24 /A/X11-5003-(37/40) Page 21 / 32
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ncqual resistors J4it f

) ther i1 e
R R . ,jnd L FERC
connected i seres

a}] be
_ . ces will
The ratio of maximum and mimimum resistan

Ay 1 By n

(c) L (D) n

n-
54, fawanmh & gugm #1 w9 F o
(A)  TE% ar % gy =S aGE B
(B) 3&% an d ywg * 9T &
(C) 38+ ar & gr H) FgHT
(D) 39 Onr 6 dars Ggrl gt
To increase the sensitivity of a potentiometer
(A)  the cross-section area of its wire will have to be increased
(B)  current in its wire will have to be decreased
(C)  current in its wire will have to be increased
(D) length of its wire will have to be increased
55. dga gEfua fetars &1 gy faw o=y @ @
(A) TEEE & 8 (B) 3TaW H(&W q
(C) FHl Wam A (D) € HEw
Kirchhoff's second law of electricity is related to
(A) conservation of mass (B) conservation of charge

(C) conservation of energy (D) conservation of momentum

~
-

24 /A/XI1-5003-(37/40
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ﬁ REFA

> ﬁamwm“ﬁmmm4ﬂ!v

(A) & B e

(C) & /R - (D) ::E:Uﬁ;fam'{""

Which one of the following is not a unit of magnetic ficld ?
(A) tesla (B) wcber/ metre 2

(C) newton/ampere-metre (D) newton ,p'snrrlperlt::e

57. T ue Ao F e T gaw faw 1 Tem § v 3w f o awd b,
afe
(A) e gaw i @
(B) Fadt arers aeliedl §
(€) Hww 3R =R el e &
(D) % 3 =ew * d= s T A
A magnet is situated near a closed conductor. Current can be
produced in the conductor, if
(A) only magnetisin motion
(B) only conductor is in motion
both magnet and conductor are in motion

(C)

(D) thereis relative motion between magnet and conductor

24 / A/ X11-5003-137/40) Page 23 / 32
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G

58. 4 el eraAiet i i U bl HTA g
o (R)F

(A)  fadg (0)F @) s (R

(C) mm(s)%

The value of current obtai

(D)
ned in a moving coil gal‘-'anomctcr is

pr0portioﬁal to
(A)  deflection (0) (B) resistance (R)

(C) magnetic field ( B) (D) none of these

59. Wﬂaﬁqﬁtﬁaﬁmﬁaﬁaﬁﬁsﬁmm% :

A e B s (@) jyof & 3= WY

() ot & frer wfedy (D) auATae § 3= vy

A galvanometer is converted into ammeter by adding

(A) low resistance in parallel
(B) high resistance in series
(C) low resistance in series

(D) high resistance in parallel

Tl g FEAl P FR T ITH AR 8 T 2

60.

) FosA HTE B) T A ¥

o (©) g;ug?n$aan45"‘ﬁ (D) FUgell & a1 B 180° W
—-__.__.__-__———'__'_—_—_ ¥
[237A/XI5003 w7150 Page 24 / -
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The magnetic f
iel _
d Pl'?duccd at the centrc of current carrying
circular coil is

(A)  on the planc of coj]

(B) perpendicular to the planc of coil

(C) at 45° to the plane of coil

(D) at 180° to the plane of coil

61. et (M) Tad sl 9@ s 6 TS F THHIRR n WE ZHS H -
FEA W FAH JHS HI gyl am

A ® 3 :
() QEE (D) Mxn

On dividing any magnet of magnetic moment ( M) parallel to its

length into n equal pieces, the moment of each piece will be

A) % (B) f—z
(C] _,zﬂ_fl (Dl Mxn

2. Prefufiga § @ W e welifa @ g 2
(A) mﬁrﬂ?ﬁﬂm (B} mm
©) g w@d (D) @ & ®g T \

24 /A [ X11-5003-(37/40) Page 25 / 32
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Which of the following shows hysteresis ?
ic maltcrials

(A) Paramagnciic materials (B) Ferromagnet

(C) Diamagnetic materials (D) Non€ of these

@mmﬂrﬁmwmﬁmﬁm%

H Mo m
A -om B o
A) an r (B) 4n 2
(€C) -—2:’!—"; | (D) I
' r

The value of magnetic potential at a distance from a pole strength

mis https://www.bsebstudy.com

H Ko m
A) LM B
& T I
M
(€ —4:: ____n; (D} zero
r

T TSR 5 alee fAvaRR 7% @ia fea o )1 seegl g il

gt
(A S B) 5FEH-AE

(€ 5 (D) S5¥®
An electron is accelerated to 5 volt potential difference. The energy

gained by the electron will be
(A) 5 joule (B): SeV

(C) Serg (D) .5 watt
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65.

$14 0

67.

(117

D) E- [[‘f—;)

The relatio :
n between clectrie ficld ( E) and clectric potential ( V) is

dr (B) E='[d£:7)
O ) e

"'iﬂ“@aaﬂaﬁgﬁﬂaﬁﬁﬁﬁa@@ﬁam{w

(A) r % (B) r 3%

c % (D) A B T

The electrostatic cnergy of the system made by two electric dipoles

kept at a distance ' r' is proportional to

@ B r°

© rt (D) none of these

e FE uEs §

(A) A FEW H (B) gda-§F & dlieran &
© JgeramE (D) 3 v B

24/ A/ X11-5003-(37/40)] Page 27 / 32




|]|?

unit of

Picofarad is th¢ o
y of clectric field

(B) intensit

(A) electric charge
(D) electric flux

(C)  electric ca;.:)acity

68. foeh gurfes i wifeen Pt T el 2

(A) el | (B)
(C) @I & HAEY | (D)

nser does not depend upon

@rel & AR T
w2} ¥ i 3T W

Capacity of any conde

(A)  shape of plates (B) sizc of plates

(C)  charges on plates (D) distance between plates

69. UH MeY wrerE ) wiiar 1-0 uF 21 Iuh B gt

A) 111 @A (B) 10 HiKA
(C) o foft (D) 1-11 &t

The capacity of a spherical conductor is 1-0 pF. Its radius will be
(A) I1-11 metre (B) 10 metre

(C) 9 km (D) 1-11cm

70. fodt uig &1 wdghis & 2
W -1 B) o0
€ 1 (D) 3@

The dielectric constant of g met.a] i.s
A) -1 (B) | 0

C 1
) D) infinity
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978 - & / SECTION - B

] Wmm / Short Answer Type Questions
wr SO 1 # 20 7Y 3w § 1 ff 10w F I D

zafarﬁufﬁaé:

Question Nos. 1 to 20 are Short Answer Type

Each question carries 2 marks :

P i a0 T & 2 Frafa & g A vt A R FAE 2

1.

What is electromagnetic wave ? On

in vacuum depend ?

(117 ]

wdw & T
10 x 2 =20

Answer any 10 gquestions.

10 x 2 =20

1+ 1

which factors docs its velocity

AT T 2 2 vEeh) Q) o @A L+ Yo+ Ya
What is cyclotron ? State its two limitations. .
qut & Q T T ) afofea H 1+ 1
Define two magnetic elements of the carth.
ot U 1 & ? 9 3qaifand fafaal 1+ 1
What is eddy current ? Write down its utilities.
ZrAHIR § gAaTet Fat-wif @ fod 2
Write down energy-losses in transformer.
g & Yt i gaE| 2
Explain polarisation of light.
ﬁmm(nonzaﬁzsﬁaﬁmfma@ 2
Convert binary number { 1101 ), into decimal system.
www 41 Fax I e E2{ 141
Explain www and Fax.
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9.

10.

11.
12.
13.

14.

16.

17.

18.

L

Fifrw s &1 R ? wHl FAHH o fAd|
2 Write down its nccessa

What is critical angI¢ *

ry conditions.

MO .
. rng bodyv. Calculate the

10'° clectrons arc placed on an uncha

charge produced on the body. _
e Rrgeq s T geA & 43 A el 2

n nuclear fission and nuclear fusion.

Explain the difference betwee '
freart Frais 1 & 2 1 A G 2
What is Rvdberg constant 2 Write down 1ts unit.
EH U R/ 8 ? 2
What is wattless current ?

1+1

el e e F & 2 v @ I ferl
wn its one application.

What is light-emitting diode (LED) ? Write do
2 .

p-2T%9 &1 n-TRY HEaeH 4 3R T8 Bl
Mention the difference between p-type and n-ty
Wz & & Iwan 1 foa)

pe semiconductors.
1+1

Write down two uses of shunt. ,
faret fag Wt farga i3 €1 digm $1 gfomn dfag) wH S.1. =R frdi 2
Define intensity of electric field at any point. Write down its S.L

unit.
frtft w2 78 & I 2 x 106 cm feya mpl 1 o dgd Roya T
quﬁﬁﬁﬂﬁzmﬁmminn?_ 2

An electric dipole of dipole moment 2 x 10 °cm is kept inside 2
closed surface. What will be the net flux coming out from the

surface ?
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[ 117 ]

6 uF & wufm o
19 0 A H TR 10 v A 99 v g 33 w 39h FAi 4 gfg T

20.

Hif) . ,

Find the i in e

‘ € increase in energy of a condenser of capacity 6 uF on
changing potential difference from 10 V to 20 V.
3infia T FA-3inf wfdy wn A & 2 G @1 TH-TF ITE A

1 + Y%+ V2
What are ohmic and non-ohmic resistances ? Write down one

example of both.
i 39T WYT / Long Answer Type Questions

uyT e 21#26ﬁ#ﬁﬁam§;ﬁ7ﬁsmﬁ$mé‘:m%ﬁq

5 3% FrafRa & :

Question Nos. 21 to 2

3 questions. Each question carries 5 marks :

21.

22.

23.

_3x5=15

6 are Long Answer Type Questions. Answer any
3x5=15

ﬁgﬂﬁ'ﬁw%?ﬁwﬁﬂﬁgﬁmmﬁﬁqmm,wﬂ
i ATH & 5

What is electric dipole ? Find an expression for electric potential at

any point due to an electric dipole.

el & SAfaR H 8 ? #ﬂ%ﬁm‘(m%amﬁfﬁmﬁaﬁzr{m

S5 W HIAT s
What is interference of light ? Find an expression for fringe width
in Young's double slit experiment.

ﬁm%zﬁaﬁﬂﬁﬁﬁmﬁqm%mmaﬂhﬁ 5

the defects of human vision and describe the method to

Mention

remove them.

S — i
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24,

25.

26.

[117)

Shrradia, YT au dega geel % i i o :
. i

Write the properties of diamagnetic, paramagneuc apg

ferromagnetic materials.

i §) qhonfia F A g S0, A ford | N S e, 1 o

o e ) afafie F Rin a@ewa 6 1oE B 5

Define self-inductance and write its S.I. unit. Find the sejf.

inductance for a solenoid of N turns, length ! and radius r.

p-n-paul n-p-n'{iﬁ'&ﬁiﬁmﬁﬁﬁﬂﬁﬁaﬁ?ﬁl 5

!

Describe with diagram the working method of p-n-p and n-pp ]

transistors.

_—-—l"'"'-.
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